

Missouri University of Science and Technology Scholars' Mine

Mathematics and Statistics Faculty Research & Creative Works

Mathematics and Statistics

01 Jan 1969

On Semigroups Of Functions On Topological Spaces

Troy L. Hicks Missouri University of Science and Technology

A. G. (Glen) Haddock Missouri University of Science and Technology

Follow this and additional works at: https://scholarsmine.mst.edu/math_stat_facwork

Part of the Mathematics Commons, and the Statistics and Probability Commons

Recommended Citation

T. L. Hicks and A. G. Haddock, "On Semigroups Of Functions On Topological Spaces," *Journal of Mathematical Analysis and Applications*, vol. 28, no. 2, pp. 330 - 335, Elsevier, Jan 1969. The definitive version is available at https://doi.org/10.1016/0022-247X(69)90032-8

This Article - Journal is brought to you for free and open access by Scholars' Mine. It has been accepted for inclusion in Mathematics and Statistics Faculty Research & Creative Works by an authorized administrator of Scholars' Mine. This work is protected by U. S. Copyright Law. Unauthorized use including reproduction for redistribution requires the permission of the copyright holder. For more information, please contact scholarsmine@mst.edu.

On Semigroups of Functions on Topological Spaces

T. L. HICKS AND A. G. HADDOCK

University of Missouri—Rolla, Rolla, Missouri 65401 Submitted by Ky Fan

1. INTRODUCTION

If X is any non-empty set, the symbol F(X) will be used to denote the semigroup of all functions which map X into X, where the binary operation is that of composition. The symbol \bar{x} will denote the function which maps every element of X onto x. The function \bar{x} will be referred to as a constant function, and Z(X) will denote the collection of all constant functions of F(X). The symbol $\alpha(X)$ will be used exclusively to denote a subsemigroup of F(X) which contains Z(X). If X is a topological space, C(X) will denote the semigroup of continuous functions on X. C(X) is a subsemigroup of F(X)that contain Z(X). Suppose X and Y are topological spaces and $\alpha(X)$ and $\alpha(Y)$ are isomorphic. This paper deals principally with the following question. What conditions on X and Y are sufficient to imply that X and Y are homeomorphic?

The following two lemma's are straightforward. Magill [1] proved them for the case $\alpha(X) = C(X)$, and his proof carries over.

LEMMA 1. Let $f \in \alpha(X)$. $f \circ g = f$ for every $g \in \alpha(X)$ if and only if $f = \overline{x}$ for some $x \in X$.

LEMMA 2. Let $f \in \alpha(X)$ and put $H(f) = \{x : f(x) = x\}$. $x \in H(f)$ if and only if $f \circ \overline{x} = \overline{x}$.

Suppose ϕ is an isomorphism from $\alpha(X)$ onto $\alpha(Y)$ and $\phi^* = \phi \mid Z(X)$. Consider the following diagram.



 $x^*(a) = \overline{a}$ for every $a \in X$ and $y^*(b) = \overline{b}$ for every $b \in Y$. Clearly x^* and y^* are one-to-one and onto. If ϕ^* maps Z(X) onto Z(Y), it will follow that ϕ^* is an isomorphism onto Z(Y) and $h = y^{*-1} \circ \phi^* \circ x^*$ maps X one-to-one and onto Y.

LEMMA 3. ϕ^* maps Z(X) onto Z(Y).

PROOF. If $g \in \alpha(Y)$ there exists $f \in \alpha(X)$ such that $\phi(f) = g$. For $x \in X$, $\phi(\bar{x}) \circ g = \phi(\bar{x} \circ f) = \phi(\bar{x})$. By Lemma 1, $\phi(\bar{x}) \in Z(Y)$. Let $\bar{y} \in Z(Y)$. There exists $f \in \alpha(X)$ such that $\phi(f) = \bar{y}$. Let $g \in \alpha(X)$.

$$\phi(f \circ g) = \phi(f) \circ \phi(g) = \overline{y} \circ \phi(g) = \overline{y} = \phi(f).$$

Since ϕ is one-to-one, $f \circ g = f$. By Lemma 1, $f \in Z(X)$.

REMARK 1. h(x) = y if and only if $\phi(\bar{x}) = \bar{y}$. In [1] Magill proved that $\phi(f) = h \circ f \circ h^{-1}$ for every $f \in \alpha(X)$ for the case $\alpha(X) = C(X)$ and $\alpha(Y) = C(Y)$, and his proof carries over. We note that if T is any one-to-one mapping from X onto Y such that $\phi(f) = T \circ f \circ T^{-1}$ for every $f \in Z(X)$,

then T = h. For, if $x \in X$ let y = h(x) and then

$$\phi(\overline{x})(a) = (T \circ \overline{x} \circ T^{-1})(a) = T(x) = \overline{T(x)}(a)$$

for every $a \in Y$. Hence

$$\overline{h(x)} = \overline{y} = \phi(\overline{x}) = \overline{T(x)}, \quad \text{and} \quad h(x) = T(x).$$

THEOREM 1. Suppose $\beta(X)$ and $\beta(Y)$ are semigroups such that

 $\alpha(X) \subset \beta(X) \subset F(X)$ and $\alpha(Y) \subset \beta(Y) \subset F(Y)$.

 ϕ can be extended to an isomorphism ψ from $\beta(X)$ onto $\beta(Y)$ if and only if

- (1) $h \circ f \circ h^{-1} \in \beta(Y)$ for every $f \in \beta(X)$, and
- (2) $h^{-1} \circ g \circ h \in \beta(X)$ for every $g \in \beta(Y)$.

If ϕ can be extended ψ is unique; $\psi(f) = h \circ f \circ h^{-1}$ for every $f \in \beta(X)$.

PROOF. The last statement follows from the preceding remark. If ϕ can be extended, (1) is clear. Given $g \in \beta(Y)$, there exists $f \in \beta(X)$ such that

$$\psi(f) = h \circ f \circ h^{-1} = g. \qquad h^{-1} \circ g \circ h = f \in \beta(X).$$

If the conditions hold, it is clear that ψ maps $\beta(X)$ into $\beta(Y)$, ψ is one-toone, and a homomorphism. Given $g \in \beta(Y)$, $h^{-1} \circ g \circ h \in \beta(X)$ by (2) and $\psi(h^{-1} \circ g \circ h) = g$.

The following lemma is essentially contained in the proof of Theorem 3.1 of [1]. We give a proof for the sake of completeness.

LEMMA 4. $h(H(f)) = H(\phi(f))$ for every $f \in \alpha(X)$ and $h^{-1}(H(g)) = H(\phi^{-1}(g))$

for every $g \in \alpha(Y)$.

PROOF. Let $x \in X$ and put y = h(x). Using Lemma 2, we see that the following statements are equivalent: $y \in h(H(f))$, $x \in H(f)$, $f \circ \bar{x} = \bar{x}$, $\phi(\bar{x}) = \phi(f) \circ \phi(\bar{x})$, $\bar{y} = \phi(f) \circ y$, $y \in H(\phi(f))$.

THEOREM 2. Suppose X and Y are topological spaces such that $\{H(f) : f \in \alpha(X)\}$ and $\{H(f) : f \in \alpha(Y)\}$ form bases for the closed sets of X and Y respectively. If ϕ is an isomorphism from $\alpha(X)$ onto $\alpha(Y)$, then h is a homeomorphism from X onto Y.

PROOF. Since h is one-to-one and onto, this follows immediately from Lemma 4.

2. M-Spaces and S-spaces

DEFINITION 2.1. A topological space X is said to be an M-space if $\{H(f) : f \in C(X)\}$ is a base for the closed sets of X.

De Morgan's laws yield X is an M-space if and only if $\{0(f) : f \in C(X)\}$ is a base for the topology of X, where $0(f) = \{x : f(x) \neq x\}$.

An open set G containing a point x in X was defined in [1] to be an S-neighborhood if $G = \{x\}$ or there exists a continuous function f from c(G) into X such that $f(x) \neq x$ and f(y) = y for each y in c(G) - G, where c(G) denotes the closure of G. A space was defined to be an S-space if it is Hausdorff and each point has a basis of S-neighborhoods. It was shown in [1] that every S-space is an M-space. In Section 3, an example is given of a space with a basis of S-neighborhoods that is not a T_1 -space.

THEOREM 3. Every M-space is a T_1 -space. For Hausdorff spaces, X is an M-space if and only if it is an S-space.

PROOF. Suppose X is an M-space. If $x \in X$, $\{x\} = H(\bar{x})$ which is a closed set. It suffices to prove that x has a basis of S-neighborhoods. Suppose G is an open set containing x. $X - G = \cap \{H(f) : f \in T \subset C(X)\}$. Since $x \notin X - G$, there exists $f \in T$ such that $f(x) \neq x$ and f(y) = y for every $y \in X - G$. Since $c(G) - G \subset X - G$, f(y) = y for every $y \in c(G) - G$.

REMARK 2. If h is a homeomorphism from X onto Y, ϕ defined by $\phi(f) = h \circ f \circ h^{-1}$ is an isomorphism from C(X) onto C(Y). In view of Theorem 2, two M-spaces X and Y are homeomorphic if and only if the

332

semigroups C(X) and C(Y) are isomorphic. This result for S-spaces is the main theorem in [1], but the proof given there holds for M-spaces.

In [3], an isomorphism ϕ from $\alpha(X)$ onto $\alpha(Y)$ was said to be induced by a homeomorphism if there exists a homeomorphism T from X onto Y such that $\phi(f) = T \circ f \circ T^{-1}$ for every $f \in \alpha(X)$. In view of Remark 1, ϕ is induced by a homeomorphism if and only if $h = y^{*-1} \circ \phi^* \circ x^*$ is a homeomorphism. In [2], Magill proved that a mapping ϕ from $\alpha(X)$ onto $\alpha(Y)$ is an isomorphism if and only if there exists a one-to-one mapping T from X onto Y such that $\phi(f) = T \circ f \circ T^{-1}$ for every $f \in \alpha(X)$. This also follows from Remark 1. Furthermore, if such a mapping exists it must be h.

EXAMPLE 1. Let $X = \{a, b\}$ with topology $t = \{\emptyset, X, \{a\}\}$, and let Y be the same set with topology $u = \{\emptyset, Y, \{b\}\}$. $C(X) = C(Y) = \{\overline{a}, \overline{b}, i\}$. The identity mapping on C(X) is an isomorphism and h(x) = x for every x in X. h is not continuous but f defined by f(a) = b and f(b) = a is a homeomorphism. This shows that an isomorphism may not be induced by a homeomorphism even though X and Y are homeomorphic.

THEOREM 4. Suppose P is a topological property such that for any two topologies u and v for the set X which possess P, any isomorphism of C(X, u)onto C(X, v) is induced by a homeomorphism. Then any isomorphism of C(X, u)onto C(Y, t) is induced by a homeomorphism if t possesses P.

PROOF. Let ϕ be an isomorphism from C(X, u) onto C(Y, t). Then $h = y^{*-1} \circ \phi^* \circ x^*$ is a one-to-one map from X onto Y. Let the topology induced from Y by h on X be denoted by v. Clearly h is a homeomorphism from (X, v) to (Y, t) and $\psi(f) = h \circ f \circ h^{-1}$ is an isomorphism from C(X, v) onto C(Y, t). We now have $\psi^{-1} \circ \phi$ an isomorphism from C(X, u) onto C(X, v). We observe that $\psi^{-1} \circ \phi$ is the identity isomorphism and hence is induced by the identity function i which must be a homeomorphism from (X, u) to (X, v). It follows that $h \circ i = h$ is a homeomorphism from (X, u) to (Y, t) and since h induces ϕ the proof is complete.

3. FURTHER EXAMPLES

EXAMPLE 2. Let $X = (0, 1) \cup \{2\}$, and define the topology u for X to be the relative topology for (0, 1) together with the set X. Certainly the space is not Hausdorff. It is a space with S-neighborhoods. Let G be any neighborhood of 2, then $c(G) - G = X - X = \emptyset$, hence the constant function $f(x) = \frac{1}{2}$ suffices for G to be an S-neighborhood. Therefore, X has a basis of S-neighborhoods at 2. Let P be any other point in X, then X is locally

Euclidean at P. Magill [1] has shown that every locally Euclidean space has a basis of S-neighborhoods. To show that X has a basis of S-neighborhoods at P, it will suffice to show that f is in C(X) whenever f is in $C(X - \{2\})$ and f(2) = 2 or f is constant. Certainly if f is in $C(X - \{2\})$ and f(2) = 2 or if f is constant, f is in C(X). Suppose f is in C(X) and f(2) = a, then for any $\epsilon > 0$, $f^{-1}[(a - \epsilon, a + \epsilon)] = X$. Hence f(x) = a for all x in X and f is constant.

The following is an example of a space (X, t) which is not an *M*-space. However, if C(X, t) is isomorphic to C(X, s) then C(X, t) = C(X, s). Furthermore, h is a homeomorphism from (X, t) onto (X, s) and t = s.

EXAMPLE 3. Let X be an infinite set, and let t denote the topology consisting of the empty set and all subsets of X whose complements are finite.

To show (X, t) is not an *M*-space, let $\{x_n\}$ be a sequence of distinct points in *X*. Observe that C(X, t) consists of those functions which are constant or finite to one, where finite to one means, for each $a \in X$, $\{x : f(x) = a\}$ is empty or finite. Hence f(x) = x for x in $X - \{x_n : n \text{ is even}\}$ and $f(x_{2k}) = x_{2k+2}$ is a continuous function. However,

$$H(f) = X - \{x_n : n \text{ is even}\}$$

is not closed.

Let s be any other topology on X such that C(X, t) and C(X, s) are isomorphic. We note that h is a homeomorphism in the t topology. Therefore, if f is in C(X, t) then $h \circ f \circ h^{-1}$ is in C(X, t). Since each function in C(X, s) is of this form, $C(X, s) \subset C(X, t)$. Furthermore, $h^{-1} \circ f \circ h$ is in C(X, t). It follows that $h \circ (h^{-1} \circ f \circ h) \circ h^{-1} = f$ is in C(X, s) and $C(X, t) \subset C(X, s)$. Therefore, C(X, t) = C(X, s).

We now show that t = s. It suffices to show that the only topology u on an infinite set X which allows C(X) to be precisely the finite to one and constant functions is t. Let U be a non-empty element of u, and $X - U \neq \emptyset$. Choose q in U and p in X - U. We define f(x) = x if $x \neq p$ and f(p) = q. f is in C(X), hence $f^{-1}(U) = U \cup \{p\}$ is in u. Therefore, if U is in u and $A \subset X - U$, $(U \cup A) \in u$. Suppose now that U is in u and X - U is not finite. Let q be in X - U and define f(x) = x for x in U, f(x) = q for x in X - U. f is not constant or finite to one. To show f is continuous, let $V \in u$. If $q \notin V$ then $f^{-1}(V) = (V \cap U) \in u$. If $q \in V$ then $f^{-1}(V) = (V \cap U) \cup (X - U)$. Now $(V \cap U) \in u$ and from what we have just shown, $(V \cap U) \cup (X - U)$ is in u. Therefore, if U is in u, X - U is finite. To verify the converse of this statement, let $U \subset X$ such that X - U is finite. There exists a V in u such that V is a proper subset of X, otherwise C(X) = F(X). If $V \subset U$ then $U = V \cup (U - V)$ is in u. If V - U is non-empty let p be in V - U and qin X - V. Define f by f(x) = x if x is in $U \cap V$ or $X - (U \cup V), f(x) = p$ if $x \in U - V$, and f(x) = q if $x \in V - U$. $U - V \subset X - V$ which is a finite set. Also, V - U is a finite set. It follows that f is continuous since it is finite to one, and consequently $f^{-1}(V) = (U \cap V) \cup (U - V) = U \in u$. Therefore, $U \in u$ if and only if X - U is finite.

REFERENCES

- 1. K. D. MAGILL, JR. Semigroups of continuous functions. Am. Math. Monthly. 71 (1964), 984–988.
- K. D. MAGILL, JR. Some homomorphism theorems for a class of semigroups. Proc. London Math. Soc. 14 (1965), 517-526.
- K. D. MAGILL, JR. Semigroups of functions on topological spaces. Proc. London Math. Soc. 16 (1966), 507-518.